EAF P LBLEY BIN0FERY - SPF TP 2L

k ARAE¢ =41 FLi RE ¥

- H-FRE(FEAS £ 120)
( )l— B O kS @ R50 5 0 R L BRI S e h % 9
1)8= (29=% (325 (4)42=% (5)50 =

( )2. 58 2 ¥ ’J%Iﬁt’ EBREAE P2 AT 9
WFt TZ2- BEAA% 205 AEH? L gfp ) e dic

QrF L TE B‘fa‘m% fear g3 30 AT R aghE o B A S B

Hofe i 7 ch e

()& T44B— §|525E i s | 10 = » & = qb— 36 > LRI 52w » C L

He 23 enidik

@) TRFF 2R P PISAL AR RIS AF S E LTk
Y%VT'E'L"I“UF]L_%/%|TF’F‘F¢i15%« ’-& D{ IE.«";?"I__P,\;:‘;
BEATR P B

¥ g5
¥ &g 7

(B)1 ¥ BAITL 30 (-l 8 5 ¥ BB (1 S L ) E L3 9 L et i

( )3 A AEW R H X A 7 HH- 2 2B BT NI P(X =K) A 7 ES R B X P K
T F ot X F L T o T A (X Yy G AT T HE) X X EEX)=u4=3"

BE T AEA R Y R Y

X =k 1 2 3 4
P(X =k) X y y X
(x+2y=1 (2)x<y (3) E(X*) =[E(X)Y

(4) X r% B #icVar(X) = E(X — p) (O)fkfimpt &2+ & = > Bhfcfr i 3 S L —

S S EEBR(FHEA X180 - BERTAN B BEAE 2L = B(F)US

( . edf#icT o 3 3 BLAE B HAarh Al w5 2,822, 0 0 % Rk

Elz|=3 > Arg(z)=70" s 2221430 » 3R T AR L1 AR
Z

D|z|= 2./3 (2) Arg(~z,) = Arg (Zl) (3)A AOB s # 4 Bf

(4)|21_Zz|:\/§ (5)|Zl+22|=\/ﬁ

1
18

@0 4)




( 2R EW R X T L P B TR A i b A po p F
B LY He g 21 E R b o 2 e X eh® R iVar(X) =12 o R T S| oRLiE

7B E e ?
(D)X ehh 2 @ E(X)=4 (%) (2) X e £ o(X) =243 (%)
1 1, 1 9
\ f_‘wp 4: - PX: :_3:_ > [
@Ltrfi=&? Fp=r  OPX=3=() = B)P(X23) =

( B @=L L
(e’ =1 21+ & + @' + @ + & + @° =0
B) L+ o)1+ &)1+ ") 1+ a*) =9 @1 1

1+ 1+ &*

(5)4 wx[2(sin10° +icosl0’ ) =a+bi » H*? a~b % F#c- big#cTd + >

a+bi ¥HRE (a>b) &% - %2

2V HEAH(ERG6A X 60 A)
LEAFZ A c323 Gl 7 400 = > £ ' R 8 X & 7 A fof IR E 6 eh= i
F X e 2 @ E(X) = (=)o

#\45*#“%.4%:1#}“ ,;g % Pl K ,;_ cREHFVREFANBL D T A

1]:\5&4\:'};5,?-@% FAE- 8 74 1000 ~ 0 pr- Hp]H 3% 500 ~ o
@L};,;LL%TX NI D E B 2000 e L e



()

M|

#

-

ool b - F T 2R EERE

o

R NS R X Bl A T o] BB AT T hdd
Fol B3 b 38 (§) £ prenfkd

A% X3 AN 2P+ 22 +1=010 5 AdF T 5 F { g il d #A5 # 5

5

6. %% > ednd - iz g
W3 5 2500 & o FIRFHAE T 0 L5
Heig o F R

(sin10° +icos10°)*(cos9” +isin9°)"

(cos15 —isin15%)?

=y L Y

£ B &

TAE4F- fel i g 2T G

AN

o

MR L 0.6 51 BiID) REen

e T a=0.05 » & ARt oA 15 > KEWMFEX AT
LX< & X2n, o @#f* 7 & £ #E (n,n)=

o

4l T EITRE 100
C e xR L 0.0015 0 R EERE P

X =Kk 0 1 2 3 4 5 6 7

p(X <k) | 0.0000 |0.0000 |0.0003 |0.0019 |0.0093 |0.0338 |0.0950 |0.2131
p(X >Kk) | 1.0000 |1.0000 |1.0000 |0.9997 |0.9981 |0.9907 |0.9662 |0.9050
X =Kk 8 9 10 11 12 13 14 15
P(X'<k) 1 0.3902 |0.5968 |0.7827 |0.9095 |0.9729 |0.9948 |0.9995 | 1.0000
pP(X>k) | 0.7869 |0.6098 |0.4032 |0.2173 |0.0905 |0.0271 |0.0052 | 0.0005




8.k f—4+4Bieh3 Bz = 24 o[RS (Bidg k) TS ]

O U EM BB X AP B4 4 fin- 3F8F 2008 > M Ehdic ] | J IR it =t #c s

ARES R ECY A 2 Zo3ndikd IR TERE L g evpyzg .
FHREAS L T2 k3 > NI TEREic ]l ) ek ;% o
RREWREY % 2 &Var(Y) = .

103 F nf= 3 AP et 29 R - P RTABRTRIR 5 - P P HTL 2R
%Tﬁ 13 mﬁ#x | G\'I4:J&TFI5§%§I:; Ik o?‘;{,q. Ej@g&%i&f F1ED s s n_‘q_#a {Z’ﬁt:}'@g"
Flerisfdpd > BRGEFEBE T2 % e o RGP RLEXTBE L1 B FTE S 8o

X% B eVar(X) =V, - éﬁ.ﬁln@n—gz :

o~ R EAE(R 10 2)
Fal g é%f’%@ég ’+#‘il“$7”¥:w,pfﬁ7 “‘,}JF. 88 ~ T - x> ERLIAEFF
T B LA R R e T T 0T IR - % Er E T
( ) L(¥ &) (24 )
Bk P S 0L "EHRE X B EA T PP BT o BRI
A 3V ik Lie ?
(1) 0.1 (2) (0.)° (3) (0.9)(0.1) (4) (0.9%(0.1) (5) (0.9)(0.1)°

2.5 Kk i - I EH EEP(X>K) 5 23 4)

3.
(D)EBEE R Ea=01>7 288 5 X>n» FREEE 5 @ 2 (log3~0.4771) (4 2)
@I " (QEM > ] s@.éw T

lpt i sr g L T T3010 X TV b ¢ — % At £F £ 9 (1 4)

4



FrAF 2L FU0SERS - SPF TRy 55X
i %=

I& wo | o) it " A

— ﬁ 1‘5%%\(4%\4&\ ) 4’ 12/77\)

1 2

1 4

S EEHI(FH6A £ 184 - BERTALS S H- BERE2A EZB(F)LFIEOA)

=y

2 3

135 125 124

CHEAKE(E R 6 A > 2 60 A)

1 2 3

100 16 0.729
27
4 5 6
J3 1 1000
7 8 )
(414) 2 iy 3
2(cos 9 +1isin 9) 2
2(0038—”+isin8—”)
9 9
2(cos£+|sm14—”)
9 9
10
1
12
w2 £ AE(% 10 &)
1.(8 5430 |2.(34) 3.(54)
2~)
4 P(X >k) (1)
=P(X=k+D)+P(X =k+2)+... (0.9 <0.1(143)
_ k k+1
=(0.9)(0.1) +(0.9)*(0.2) +... — 10g(0.9)" =k log— < log—~
_09'0_ g 1010
1-0.9 NS S =21.~(253)

2Iog3—1 —0.0458
HIFERR L X>22 (14)
(2) gg (245 X)) (14A)

(%% (1) 3P 3 2L)







